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MAT 012  Extra Practice 7.5 Forme (. SO LuTons

6) y=mx+b _ form (Equation of a line)
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MAT 012 Extra Practice 7.5 Formu(a s SoLutions

1D T= :fR for R [Note: » and R are two different variables]
n
iro £8 ma(Hp!‘(d d.“‘?rual-:ue{H:
I(wr+€):nE I(;i-i?)::ng
I
Tuwr +TR=nE "
-IHV "IHV M+ Q = -E"
TR~ nE-Tuv Q nkE—-Tnr e Nk
_— §o =z —mm—
- i # I R=nk
I
12) A= P(1+nr) forn
ai‘{r\’ﬂa*ﬁ-’d %
A= P+ Pnr v
-F -—-P _A '-'—';p/({'f‘nr)
A-P = Phv P v
PI’ ?f ’ LT?—:._ | + nr
_A-"P o
" A =
J el Ml , $o ns?
a F ¥ v
13) §= for r
- [t ernotively *
Cro ¢s mulHply: [ a & )3
l-v) = a
-g‘_h \Sr = a ‘ _ l—¢r — L2
+ SV + Sr -1 5'1
g = a+ Sr | '
~a -a E“l)(-— r) =(% & }>("’)
f—a = gr ¢ . S—.Q
e S SR

14) After ¢ seconds, a stone thrown upward with a velocity of v meters/second and with an
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acceleration due to gravity will be s meters above the ground, where s = v — 2 at®.
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